Homep Bua Ha CtopoHa | Pa3BepHytas | O6wmue O6wan Onucanue | LleHa3za 1 LleHa
annaprtaMeHT Mope naowanb, yacru, naowanb, KB.M M2, eBpo anaptaMeHTa,
a KB.M KB.M E€BDO
bnok 2
I>rax 1] an.211 |Npsmoii MNpaBas 104,7 13,2 117,9 2 cnanbHn 750 88 425
an.212 |Mpsmon JleBas 104,7 13,2 117,9 2 CnasbHU 725 85 478
I>1ax 2] an.221 |Bokosoit |Mpaeas 56,2 7,7 63,9 1 cnanbHs - npogaH
an.222 |[psaMon MNpaBas 53,8 74 61,2 1 cnanbHs 1100 67 320
an.223 |[pavon  |JleBas 110,0 15,1 125,1 2 CnanbHu 725 90 698
I>tax 3] an.231 |BokoBoii |MpaBas 56,2 7,7 63,9 1 cnanbHs = npoaaH
an.232 |[paMon MNpaBas 53,8 7.4 61,2 1 cnanbHs 1150 70 380
an.233 |lMpsmon JleBas 110,0 15,1 125,1 2 CnasbHU 775 96 953
I>1ax 4] an.241 |Mpsmoii MNpaBas 105,8 14,5 120,3 2 cranbHn - npogaH
an.242 |lMNpsamon JleBas 105,8 14,5 120,3 2 CnasbHu - npogaH
I>rax 5| an.251 |[Mpsmoi - 156,0 12,1 168,1 2 cnasbHu - npogaH
bnok 3
I>rax 1| am.311 |Mpsmoii MNpaBas 104,7 13,2 117,9 2 cranbHu = npoaaH
an.312 |[Ipamon JleBas 104,7 13,2 117,9 2 CranbHn - npogaH
I>tax 2] an.321 |BokoBoii |[paBas 56,2 7,7 63,9 1 cnanbHs = npoaaH
an.322 |[[psMou lpaBas 53,8 74 61,2 1 cnanbHs - npoaaH
an.323 |lpsmon JleBas 110,0 15,1 125,1 2 cnasbHu - npogaH
I>1ax 3] an.331 |Bokosoit |Mpaeas 56,2 7,7 63,9 1 cnanbHs 850 54 315
an.332 |[psaMon MNpaBas 53,8 74 61,2 1 cnanbHs - npoaaH
an.333 |lpsmoi JleBas 110,0 15,1 125,1 2 CnasbHU 750 93 825
I>tax 4] an.341 |Mpsamoii MNpaBas 105,8 14,5 120,3 2 crnanbHu = npoaaH
an.342 |lMpsmon JleBasi 105,8 14,5 120,3 2 CranabHn 830 99 849
I>rax 5] an.351 [Mpsmoii - 156,0 12,1 168,1 2 CrajbHu - npogaH
bnok 4
I3tax 1| an.411 |Mpsmoit MNpaBas 104,7 13,2 117,9 2 cnanbHu = npoaaH
an.412 [lpsmon JleBas 104,7 13,2 117,9 2 cnasbHU - npogaH
I>1ax 2! an.421 |BokoBoii MNpaBas 56,2 7,7 63,9 1 cnanbHsa - npoaaH
an.422 |[psaMon MNpaBas 53,8 74 61,2 1 cnanbHs - npoaaH
an.423 |[paMon JleBas 53,8 7,4 61,2 1 cnanbHs - npoaaH
an.424 |bokosoi |/leBas 56,2 7,7 63,9 1 cnanbHA - npogaH
I>1ax 3 an.431 |Bokosoi MNpaBas 56,2 7,7 63,9 1 cnanbHs 750 47 925
an.432 |[[psiMoi MNpaBas 53,8 74 61,2 1 cnanbHs = npoaaH
an.433 |[paMoi JleBas 53,8 74 61,2 1 cnanbHs 1100 67 320
an.434 |bokosov |JleBas 56,2 7,7 63,9 1 cnanbHs 700 44 730
I>taxx 4] an.441 |Mpsmoit MNpaBas 105,8 14,5 120,3 2 cnanbHu = npoaaH
an.442 |MNpsmon JleBas 105,8 14,5 120,3 2 CnasibHU 830 99 849
I>rax 5! an.451 [Mpsmoit - 156,0 12,1 168,1 2 CnasibHU 800 134 480
bnok 5
I3tax 1] an.511 |Mpsivoit  |MpaBast 104,7 13,2 117,9 2 cnanbHu - npogaH
an.512 |[psaMon JleBas 104,7 13,2 117,9 2 CranabHn = npoagaH
I3tax 2] an.521 |Bokosoii |MpaBast 56,2 7,7 63,9 1 cnanbHs = npoaaH
an.522 |[psaMon MNpaBas 53,8 74 61,2 1 cnanbHs = npoaaH
an.523 |[psmoi JleBas 53,8 7,4 61,2 1 cnanbHs = npoaaH
an.524 |bokoBol |/leBas 56,2 7,7 63,9 1 cnanbHa - npoaaH
|I3tax 3] an.531 |BokoBoii |MpaBas 56,2 7,7 63,9 1 cnanbHs = npoaaH
an.532 |[psamMon MNpaBas 53,8 74 61,2 1 cnanbHs = pesepB
an.533 |[psmoi JleBas 53,8 74 61,2 1 cnanbHs = npoaaH
an.534 |bokosoli |/leBas 56,2 7,7 63,9 1 cnanbHs - npogaH
I3taxx 4] an.541 |Mpsmoit MNpaBas 105,8 14,5 120,3 2 cnanbHu = npoaaH
an.542 |lMpsmon JleBas 105,8 14,5 120,3 2 cnasnbHu - npoaaH
I>1ax 5! an.551 [Npsmoii - 156,0 12,1 168,1 2 CnanbHu 750 126 075
bnok 6
I>tax 1] an.611 |Mpsivoit  |MpaBast 104,7 13,2 117,9 2 cnanbHu 750 88 425
an.612 |[paMon JleBas 104,7 13,2 117,9 2 cranabHn = npogaH
I>tax 2  an.621 |Bokosoit MNpaBas 56,2 7,7 63,9 1 cnanbHs 750 47 925
an.622 |[psMou MpaBas 53,8 7,4 61,2 1 cnanbHs = npoaaH
an.623 |[psaMoi JleBas 53,8 74 61,2 1 cnanbHsa - npoaaH
an.624 |bokoBol |/leBas 56,2 7,7 63,9 1 cnanbHs = npogaH
I>tax 3] an.631 |BokoBoii |[paBas 56,2 7,7 63,9 1 cnanbHsA = npoaaH
an.632 |[psMou MNpaBas 53,8 74 61,2 1 cnanbHs = npoaaH
an.633 |[psaMon JleBas 53,8 74 61,2 1 cnanbHsa - npoaaH
an.634 |bokoBol |JleBas 56,2 7,7 63,9 1 cnanbHs = pe3epB
I>tax 4] an.641 |Mpsmoii NpaBas 105,8 14,5 120,3 2 cranbHu = npoaaH
an.642 |[paMon JleBas 105,8 14,5 120,3 2 cranabHn = npogaH
I>1ax 5! an.651 [Mpsmoii - 156,0 12,1 168,1 2 CnanbHn 700 117 670




